(p+q=1)

q




n
P(X=x) = (x} p* 9™,

n =153, p=0.8, q=0.2

15
P(X =x) = [X] (0.8)* (0.2)"7, x=0,1,2,..15

P(X =15) = (ISJ (0.8)"° (0.2)"""*
s '

P(X=15)=1x0.035x%x1
P(X =15)=0.035

15 8 15-8
P(X =8) = [8] (0.8)° (0.2)

P(X =8) = 6435 x 0.1677722 X 0.0000128
P(X =8)=0.013819

15 6 15-6
P(X =6) = (J (0.8)° (0.2)

P(X =6) = 5005 x 0.262144 x 0.000000512
P(X = 6)=0.000672

x=0,12,...

()




15 0 15-0
P(X =0) = (oj (0.8)° (0.2)

P(X=0)=1x1x0
P(X=0)=0

n =20, p=0.6, q=0.4

20 X 20-x
P(X=x) =|" | 06 04, x=0,1,2,...,20

20 7 20-7
P(X =7) = [J (0.6)" (0.4)

P(X =7)= 77520 x 0.0279936 x 0.00000671
P(X =7)=0.014563

20 0 20-0
P(X =0) = (o} (0.6)° (0.4)

P(X =0) =1 x 1 x0.000
P(X=0)=0

P(X =20) = (20] (0.6)2 (0.4)2
77 o) '

P(X =20) =1 x 0.00004 x 1
P(X =20)= 0.00004

20 10 20-10
P(X =10) = (10] (0.6)"° (0.4)

P(X =10) = 184756 x 0.006046618 X 0.0001
P(X =10)=0.111715

()




P(X =x) = @J (0.8)* (0.2)>™%, x=0,1,2,3

P(X =3) = @ 0.8)° (0.2)7

P(X =3)=1x 0512 x 1
P(X =3)=0512

3 _
1- P(X =2) = 1- @ (0.8)> (0.2)*

=1-(3 x0.64 x0.2)
=1-0.384
1- P(X =2) =0.616

P(X =0) = @ (0.8)° (0.2)*°

P(X =0) =1 x 1x0.008

P(X =0)=0.008

P(X 21) =P(X =1) + P(X =2) + P(X =3)

P(X>1)= @ 0.8)' (0.2)" + GJ (0.8)* (0.2)* + @ 0.8)° (0.2)7

P(X >1) =0.096 + 0.384 + 0.512
P(X >1)=0.992

()




P(X <1)= P(X =1) + P(X =0)
P(X <1) =0.096 + 0.008
P(X <1) =0.104

x=012,.. (...

X=0,L2,....




A=35,

=SgxX
P(X =1 = &2, X=012,...
X!
e—5510
1- P(X =10)=
( ) 10!

P(X =10)= 0.018132789
2- P(X <3)= P(X =0) + P(X =1) + P(X =2)
50 Sl —S5g2
P(X<3)=22 482 &9
o 1 2
P(X < 3) =0.006737947 + 0.033689735 + 0.084224337

P(X <3)=0.124652

3- P(X >1) =1- P(X <1)
P(X>1)=1-(P(X=0)+ P(X=1))
P(X >1) = 1- (0.006737947 + 0.033689735)
P(X >1) = 1- 0.040428
P(X >1) =0.959572318
4- P(4<X <8 =P(X=4)+ P(X=5+P(X=6)+P(X=7)+ P(X =8)
P(4< X <8) = e”s5* N e”5s’ N e”5° +e‘557 N e”5*
4! 5! 6! 7! 8!
P(4 < X <8) =0.17546737 + 0.17546737 + 0.146222808 + 0.104444863 +

+ 0.065278039
P(4 < X £8) =0.66688045

A=5xL=25
2
2.5 X
P(X =Xx) = ﬁ) x=0,12,....
X!
-2.5 10
1- P(X =10)= &2

10!
P(X =10)=0.000215725
2- P(X <3)= P(X =0) + P(X =1) + P(X =2)
P(X <3) _ e—2A52‘50 N e—2.52.51 N 872.52.52

0! 1t 2l

P(X < 3) =0.082084999 + 0.205212497 + 0.256515621
P(X <3)=0.543813
3- P(X >1) =1- P(X <1)
P(X >1) =1- (P(X =0) + P(X =1))




P(X >1) = 1- (0.082084999 + 0.205212497)
P(X >1) = 1- 0.287297
P(X >1) =0.712703
4- P(4<X <8 =P(X=4)+ P(X=5+P(X=6)+P(X=7) + P(X=8)
P(4S x SS) _ e—2.52'54 N e—2,52.55 N e—2.52.56 +e—2.52'57 N 9_2‘52.58
4! 3! 6! 7! 8!
P(4 < X £8) =0.133601886 + 0.066800943 + 0.027833726 + 0.009940617 +

+0.003106443
P(4 < X £8) =0.241284

A=5%x2=10
-10 X
P(X=x) = & 1'0 , X=0,12,...
X!
-10 10
1- PX =10)= =19
10!

P(X =10)=0.125110036
2- P(X <3)=P(X =0) + P(X =1) + P(X =2)
e '’10° n e 10’ 4 e '’10°
0! 1! 2!
P(X < 3) =0.0000454 + 0.000454 + 0.00227
P(X <3)=0.002769
3- P(X>1) =1- P(X L))
P(X>1) =1-(P(X =0) + P(X =1))
P(X >1) = 1- (0.0000454 + 0.000454)
P(X >1) = 1- 0.000499
P(X >1) =0.999501
4- P(4<X <8) =P(X =4) + P(X =5+ P(X =6) + P(X =7) + P(X =8)
e—10104 N e—10105 N e—10106 +e—10107 N e—10108
4! 5! 6! 7! 8
P(4 < X <8) =0.01891664 + 0.03783327 + 0.06305546 + 0.09007923 +

+ 0.11259903
P(4 < X <8) =0.322484

P(X <3) =

P(4<X <8) =

()




-2AX

P(X =x) = &2,
X!
_ e—223
P(X =3)= =

P(X =3)=0.18044704

x=0,12,....

x=0,12,...n




X = 0,1,2,3’4’5

(8J( 40 j
0 5-0
P(X=0) = T
5)
1% 658008

1712304
P(X =0) =0.38

F’“l)zw
H

P(X =O) =

P(X =1 = 8x91390
1712304
P(X =1) =0.43

P(X >2)=1- (P(X =0)+ P(X =1))
P(X 22)=1—(0.38 + 0.43)
P(X >2)=0.19

()




1 X:0,1,2,3
80
)
4\( 76
p(x =1) = LA
- 80
3
P(le):4><2860
82160
P(X =1)=0.14
y7;
X
(X =~N(u,0%)
() B
X)= 2 o
o 27ze
—0< X <o, —0o< u<o, c>0
Z ~N(0,]) Z
2
f(z)= e 2, —0<Z<w

7l

T




X ~ N(16,16)

()

1- P(z<1.72), 2- P(2<1.07)
3-P(z>0.29) 4-P(-1.91< 7 <0.45)

1- P(z<1.72) = 0.9573

2-P(2<1.07) =0.8577

3-P(2>0.29) = 1- P(z <0.29)

P(z>0.29) = 1- 0.6141

P(z > 0.29) = 0.3859

4- P(-1.91<2<0.45)= P(z<0.45) - P(z<-1.91)
P(-1.91<7<0.45) = 0.6736 — 0.0281

P(-1.91< z<0.45) = 0.6455

X =~ N(16,16) ()
1- P(X <14)
2- P(X >22)

- x=14 = 7z =X"H
O

,_14-16_

=P(X £14) = P(Z £-0.5) =0.3085

2-x=22 = z=2"H
(o2




, 22-16 _ 15
4

—P(X >22) = P(Z>1.5) = 1-P(Z <1.5)
—P(Z>1.5) = 1- 0.9332 = 0.0668

X ~ N(105,100)
100-105 X —u _114-105
< <

10 o 10
P(100< X <114)= P(-0.5< Z <0.9)
P(100< X <114)= P(z2<0.9) - P(z<-0.5)
P(100 < X <114)=0.8159 — 0.3085
P100 < X <114)=0.5074

P100< X <114)= P( )

2
f(t)= c(1+t—) 2, —wo<t<ow
v
1% C 1%
t
t
t
t(0.975, 20) t (0.995, 12)
t (0.95,5) t (0.90, 7)

£(0.975, 20) = 2.086




t (0.995, 12) = 3.055
t (0.95,5)=2.015
t (0.90,7) = 1.415

£(0.975, v)=2.228 t (0.995, v)=2.921
t (0.95, v)=1.721 t (0.90, v)=1.337

£(0.975, v)=2228 = v=10
t (0.995, v)=2.921 = v =16
t (095, v)=1.721 = v =21
£ (0.90, v)=1337 = v =16

.F
(V1*2%
(R —
(v, +v,F)
v, 2 F(v,,v,) F
F ( a) F(a,v,,v,)
F (0.01, 11, 15) F (0.05, 10, 7)

F (0.01,11,15)=0.235
F (0.05,10,7)=0.318




- P(Z <1.8)
- P(Z >-0.5)
- P(-02<Z <0.5)

%




%




t (0.95, 20)
t (0.90, 28)
t (0.99,12)
t (0.975, 7)
t (0.995, 13)

t (b,20)=1.325
t (b,23)=2.069
t (b, 12)=2.681
t (b, 15)=2.131

F(0.01,7, 12)
F (0.05,12, 5)
F (0.01, 5, 8)
F (0.05, 5, 5)

F(b,8,9)=23.23
F(b,9,11)=4.63
F(b,3,24)=3.72
F(b,2,24)=34

b -
(b,5)=2.015t






